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1. 'The Revealed Preference Theory' of consumer behaviour was proposed by :

(1) D. Ricardo (1947) (2) J. M. Keynes (1495)

(3) P.T.Elsworth (1947) (4) Samuelson (1947)
SYHIFA-ITER & SEHIT-AH RIgr &1 Ui @

(1) Sro Rarsl 71 (1947) A (2) Slo THo BHI=F 71 (1495)
(3) o o Texgaef N (1947) (4) ARgUedT A (1947)

2. Below are the statements :
a. Simultaneous multiplier is also called 'logical-multiplier.
b. Marginal efficiency of capital is also called 'internal rate of project'.
c. GDP = GNP - Net agriculture income.
In these statements :

(1) only 'a'is correct (2) 'a’,and 'b' are correct, 'c' is wrong
(3) 'a','b'and 'c' are correct (4) 'a’,'b"and 'c' all are wrong
A g

3. HABIAD-TH AMBH-0H" W B 2 |
9. ol @ AHrda-emar ‘eiae @) ardRe-ax ) deerd) § |
. Sflogiotdlo = Sfoydodlo — & HY M|

ENl UHAT H
(1) ®aa 37 3 & (2) * @1 T AP B, W TAd B
(3) @, @ quUT | A g (4) ?,/d dg1 @ G SIb T8l '
3. Harod-Domar assumed that society saves a constant proportion of the :
(1) personal income " (2) national income
(3) -increased income (4) social income
EXIS-STR F Al ot off f&5 wwrot gamar @ U Rer s ¢
(1) afdeTa & (2) TR I FT
(3) @G g% M &I : (4) ATINTS 3T BT
4. Fighting with depression would require a ........(i)......... and controlling the
sl ) siesnes requires surplus budgeting.

Which one of the following combinations would
complete the statement correctly ?

(1) deficiency target at (i) and deficiency at (ii)
(2) deficit budgeting in (i) and inflation in (ii)
(3) fiscal-discipline in (i) and inflation in (ii)

(4) fiscal-budgeting in (i) and inflation in (ii)

MPHDURS-EE-2013/Commerce/(B) BT O.



T B G AT B A oo ) B TEd B B AR (i) e B =T
¥ way & ford AfdRy-asifeT @) sravadar Bl 2 |

e 3 4 BH-aT e @Tell T B E q AR ?

(1) ara-wied (i) # T2 a9 (i) o

(2) =TeT aste (i) ¥ T gERwid (i) A

(3) NORA-STIR (i) ¥ T HeTehiar (i) A

(4) oTE-aEfeT (i) ¥ qor qERwIa (i) #

5. Ricardian Theory of International Trade suggests one of the following for gainful
trade between two countries : :
(1) A Theory of Absolute Advantage (2) A Theory of Factor Endowment
(3) A Theory of Comparative Advantage  (4) P.P.P Theory

Reprel @1 oy @R g = ﬁﬁwwﬁ%ﬁﬁ@ﬁm—@w

& fory Brar §
(1) FRuer wrae &1 Rigra (2) | o1 ey A Rgea
(3) gomreTd wre & g (4) o do fo Rrgra

6. Who does work as the 'custodian’ of the foreign exchange of a nation ?
(1) The Federal Bank '
(2) The Cartels of the Banks
(3) The Syndication Foreign Exchange Markets
(4) The Central Bank of the concerned Nation
errgzﬁﬁé?ﬁ-ﬁﬁma%‘qﬁqam'zﬁmﬁaﬁﬂm?ﬁw%?
(1) ®exd d& :
(2) df & TR
(3) el fafsmy okt @1 Rifs®e
(4) | g BT b I

7. The Theories of early business cycles theorists are jointly known as :
(1) Monetary Theory of Business Cycles
(2) Fluctuating Theory of Business Cycles
(3) Ohilin's Theory
(4) Carlyle Theory of Business Cycles ‘
IRE IR B RIEER @ Rig Wge w9 @ 9 o
(1) =T =i &) AfE-2a & 9 4
(2) STEETI THT BN GAIHA 24N B AH A
(3) sifefer Rigra & M 4
(4) STERT wH B Bleige LA B AH W

MPHDURS-EE-2013/Commerce/(B)




8. National Income = Rent + Wages + Interest Plus :

(1) Foreign Exchange Surplus (2) Foreign Income
(3) Labour Surplus (4) Profit
I T = AR + HOIGR + TST AT O
(1) fa=h faffma & god (2) fae=h amg
(3) IR F=d (4) @™
9. The process of strategic choice is essentially a :
(1) decision-making process | (2) choice of objectives
(3) strategy implementation (4) process of strategy intent
gg-drrend fwe @1 ufthar savad w9« 8 |
(1) fofa o= & ufbar (2) el BT AT HRAT
(3) J&-DIAA BT AT BRAI (4) FE-drerad BT ReR B DY ufeha

10. The Boston Consultancy Group gave an array of elements in rows and columns and
cells. Each cell represents a particular type of :

(1) Organisational design _ (2) Performance level
(3) Developed-areas (4) Business
IR FERRN YU T Hehl BT BE-ANUN GaR], diedl ol ded d fRar| s 9de
el velRia sl & v favdw foes & -
(1) T S Bl (2) freres wR B
(3) SId-e3l Bl (4) T BT
11. "Future economic benefit is the essence of ... a"....... , and the liabilities are
measured in conforming with the .........'b"......."

Which one of the following will correctly complete the statement ?

(1) at'a' machine, at 'b' value (2) asset in 'a’' and cost-principle in 'b’

(3) revenue at 'a' and cost at 'b’ (4) revenue at 'a’ and cost incurred at 'b’
qfsy AffE-am ... d......e.. BT AR B, AR SRAET BT AU ......... . G F TR
o T g 17

o= o O Biv-ar @rel wIHEl B R @ forl @El e ?

(1) o # 79, 9 | @ (2) ‘3 % 9wy, ‘g H Arra-Rigr

(3) ‘o ® I, ‘g H ArTd (4) ‘a1 ¥ 3mH, '@ H TN IR
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12. In analysing a conﬁpany's financial statements which one would a potential investor
primarily use to assess the company's liquidity and financial flexibility ?

(1) Balance-Sheet (2) Income Statement

(3) Statement of Retained Earnings (4) Fund Flow Statements

v duifaa fafrarredl e @ arear g faxig el &1 srddd R B dEEl
® B-9 faa-faavor &1 gae e ? :

(1) Rerfa fdazor &1 (2) ema faavor &1

(3) gféra SurSil &1 fdavor &1 (4) ®s yarg fqavor &1

13.  Which one of the following is true about Interim-Financial Reporting ?
(1) Itis covered by SEBI guidelines and the AS-25
(2) Itis covered by SEBI guidelines and the AS-17
(3) Itis covered by AS-1
(4) Itis covered by AS-25and AS-28
sraRa-Raifdy (i) & ar # =1 § @=-<0 & 9 w8t 2 ?
(1) 7E F@-ArteRimn qn v w25 & gR1 araRed e &
(2) U8 AQ-ArfeRierRt qer v ta-17 & gRT aRkerd ekl @
(3) I T T¥-1 & ERT AR Bl &
(4) TE T TH-25 TAT U U9-28 & ERT HIReyd B8Rl ©
14. When computing purchasing power gain or loss on net-monetary items, which of the
following items is classifield as non-monetary ?
(1) Advances to unconsolidated subsidiary
(2) Advances for allowances
(3) Unamortized premium on bonds payable

(4) Accumulated depreciation on equipment

o e-Aifed #el W BI-afed ant O g @ o @ o g, @ e el A
spfifes A &1 STl € 7

(1) rAfha-werEdl &1 AfhH

(2) <l & 31fiH

(3) <7 dfvel WR SruRwIfeR Jearsil

(4) 3R W Hapferd B
MPHDURS-EE-2013/Commerce/(B)



15. Lee Seidler's income-statement is associated with :

(1) Human Resource Account (2) Human Resource Statement

(3) Human Resource Model (4) Social Accounting and Reporting

AN-freeR BT SI-faRor FRfRd & -

(1) AFI-9RFE & @Td A (2) M- fqaRor

(3) AFI-ARA Aisd o (4) amEISTS orEida g Rafér |
16.  How many major determinants of the human resources are there according to Organ ?

(1) 7 (seven) (2) 8 (eight) (3) 9 (nine) (4) 10 (ten)

3N & AR Aa-weEl & Fufkor @ g= v Q@ feaw § ?

(1) &1 (7) (2) 33 (8) (3) = (9) (4) <= (10)
17. Broadly speaking, the managerial economics is :

(1) micro economics (2) applied economics

(3) price theory (4) atrade economics

AM B SRR, TIRIDIT AT el ©

(1) geq-refema (2) AFEIRE-3

(3) @Ha-Rigra (4) TP AR BT efem

18. The central theme of the consumption theory is :
(1) Utility maximizing behaviour of consumer

(2) Utility function
(3) The study of indifferent behaviour
(4) Hibdon's price-mechanism of firms
SYHIT-RigT BT Sa-Avg g @
(1) SUHIRIT BT JREHIVT AT P BT AIER
@) e
(3) TCRI-TAER BT JeTIH
(4) f2ee &1 sHd-a=1 BAf @I

19. The mathematical presentation of the input-output relationship is the presentation of :

(1) Rational Production (2) Rational Productivity
(3) Production Function (4) Performance-Index
fFae-s@res & e &1 T yedieRo @

(1) fgwefiar S &1 (2) fadweiar SaeTLerdr &1
(3) SHEA-BT BT (4) FeaET-s1RgE® &1
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20. (Price — Marginal Cost) + Price, indicates :

(1) status of competition (2) oligopoly

\(3) imperfect competition (4) monopoly power
(@ — W dFT) + BiAd, 3R SRl ©
(1)qﬁaﬁﬁma%ﬁmﬁfaﬁ (2) SreEmforaar o
(3) gt witranfira @ (4) TSR W P

21. Shares issued to debentureholders of Rs. 10,000 at par, and the short-term loan was
given back of Rs. 60,000 . What was the effect of these two transactions on fund
flows ?

(1) The flows will decrease by Rs. 70,000

(2) The flows will be affected by Rs. 50,000

(3) There will be no effect on working capital and fundsl

(4) Funds will increase by Rs. 70,000

FOTTSIRG] B 7% Wi qeu W A MY 10,000 Fo B, AR 60,000 Yo F FY-HAW B
T GHIY Y | T F-ae] BT BUS] & Ydle TR FIT JH1G g3l 2

(1) warg 70,000 Fo ¥ HH B

(2) warE 50,000 To | FHIfId BT

(3) ATl IS T Ut W BT TG el BRI

(4) ®Us 70,000 To aGIU

22. If the capacity usage ratio of a production department is 90% and activity ratio is 99%,
' the efficiency ratio of the department will be :

1) 120% 2) 11%. (3) 99% (4) 110%
U ST WM BT EHT-YENT SO 90 wiwd € werm ufkar ot 99% & o 99
fQRT BT HRITHTT AFATT B

(1) 120% (2) 11% (3) 99% (4) 110%

23. When the sales increased from Rs. 40,000 to Rs. 60,000, then profit increased by
Rs. 5,000. On the basis of it the P/V ratio is :

(1) 20% (2) 25% (3) 50% (4) 15%
S/ Ry 40,000 $o F gEHR 60,000 o FIAT, A @M 5,000 To W dGI| TH IR W
ST /AT T ©

(1) 20% 2) 25% (3) 50% 4) 15%
MPHDURS-EE-2013/Commerce/(B) '



24. Under a concept of accounting a business should provide all relevant information to
external users for the purpose of sound economic decisions. That concept is :

(1) Full-Disclosure (2) True and fair annual report
(3) Economic interest of stakeholders (4) Standardized report
o B SRE W A ST I e R AR | 9w o 2 @

(1) Yol-udHraxor @ (2) w9 19 we qif¥e Rae @
(3) oAl & onfdfe fag o (4) vfug Rard @

25. Positive methodology of accounting theory is also called :
(1) Normative methodology (2) Predictive methodology
(3) Descriptive methodology (4) Prescription-approach
oI RIGTT & HHRIoT® Jored fasimT @1 @t man & -
(1) et yomell fasm € (2) wfa=r ga® yomel fasm

(3) aviTHS ga® yomed fasm @ (4) FeRu-afem

26. The process of reporting an item in the financial statements of an entity is :

(1) Allocation (2) Matching (3) Posting (4) Recognition
U A BT 3b18 @ fA0irg fAawort § fores & wba &1 ded &
(1) smaed (2) e &= (3) @@r (4) fdr=ra
27. Three combinations are given : |
a. Expenses :  Efforts
b. Revenue :  No accomplishment
c. Expenses :  Expired costs
Which one of the following is correct about these combinations ?
(1) 'a','b"and 'c' all are correct (2) 'a'and 'b'are true and 'c' is wrong
(3) 'a',and 'c' are correct, 'b' is wrong  (4) only 'c'is correct
A9 T g T E
(1) =g DI |
@) <mm™ . foeres =@
(@) @ : Efad ArT
=1 § | B0 T 57 A wae B ar A w@r E ?
(1) o, ‘@ qan = d= | g (2) ‘o dUT ‘T WE € iR W Tod ®

(3) o JqAT W T & IR ‘g ToAT B (4) DI T B HE 2
MPHDURS-EE-2013/Commerce/(B) : ' P.T.O.
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28. A principle objection to the straight line method of depreciation is that it ignores
variations in the rate of :

(1) inflation (2) interests

(3) assets-use (4) assets demolition
m@nﬁ@umﬁwwﬂ@mﬁiuﬁﬁ?ﬁ%%wﬁ@ﬁmﬁﬁﬁmﬂwﬁ
feaRor @) ST HI © ¢

(1) gETDIT &R Bl (2) =TT &”0 D

(3) Rl & W &% Bl (4) il @ FfkeRor o

29. Accounting standard-6 (Revised) deals with :
(1) Depreciation Charges
(2) Depreciation Accounting
(3) Depreciation Measurement and Concepts
(4) Depreciation Charges by Rails
eRgie yHI9-6 (Fenfera) Wi €
(1) & WIRT & () E-erEiET @
(3) B4 @ AT Td gROT ¥ (4) Yo gRT &9 WRI A

30. Generally which inventory cost method approximates most closely the current cost
for each of the following ?

Cost of goods sold Ending Inventory
a. LIFO FIFO
b. LIFO LIFO
c. FIFO FIFO
d. FIFO LIFO
(1) only 'b'is correct (2) only 'a'is correct
(3) 'a'and 'b' both are correct (4) all are correct
AR ATeerTel @ e Fre ¥ 9 dieear @A i @ qeaied @ ford s g7
R axqelt @ S sifier <eferET
(&) ferer fomep
@) femr e
(%) formr fobepT
() fwr et
(1) daa T H& 8 (2) Bad I FE B
(3) ‘ar 3R ‘T <+ Fa B (4) Wt 9 €

MPHDURS-EE-2013/Commerce/(B)



31. "The function of management accounting is to provide data and not the ................ ."
What will come at blank space ?
(1) decision (2) costs (3) analysis (4) liquidity
Rt v o= @ e ?

(1) faolg (2) T (3) fazeiuer (4) oxerar
32. Budgets are the comprehensive plans of :

(1) estimation (2) action

(3) budgetary variances ‘ (4) organising

oTe g AT B @ -

(1) srgmmt 1 - (2) PrfaE #

(3) s @ daeiferdl @ (4) ETSHIBROT B

33. Which one of the following is correct ?
(1) Budgeted Sales — Standard Sales = Value Variance
(2) Budgeted Overheads — Actual Overheads = Volume Variance
(3) Budgeted Overheads + Budgeted Output = Budgeted Ratio
(4) Actual Cost = Standard Cost — Labour Cost Variance
= 4 ] e de g ?
(1) 9oy fasa - ymmg A = H|a Ay
(2) 9oIEIY @d - IR<AfAd T = AT (G
(3) IV @ + IO STUTE = Joled T
(4) IRAAD AT = T AFTE.— 519 AT ATty

34. Here are three equations :
a. Change in Profit + Change in Sales = P/V Ratio
b. Variable Cost = Cost of the items
c. Fixed Cost + Cost per Unit = B.E.P.
Now which one of the following is true about these equations ?
(1) Only 'c'is correct (2) Only b is correct
(3) Only 'a'is correct (4) All the three are correct |
MPHDURS-EE-2013/Commerce/(B) P.T.O.
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T8 W A FHEIT B _
(1) @ A afad + R 3 GRad = wRT /AT ST
@) qRad=elel ST = 7E @ AT
(@) Tl ST + Ufy TS AT = dogotio
57 A B ar A e § | st wal e v
(1) ®ad & & © (2) ®act ‘T FE &
(3) Hact *F WEl B (@) &= & wE g

35. Current Ratio = 2 : 1, working capital = Rs. 50,000. What will be the value of current
liabilities ?

(1) Rs. 25,000 (2) Rs.1,00000  (3) Rs. 50,000 (4) Rs. 13,333
Are] AT =2 : 1, @1e], Yol = 50,000 %o | Are], it ¥ fpae gnfr ?
(1) 25,000 To (2) 1,00,000%0  (3) 50,000 %o (4) 13,333 %0

36. The Lease rentals paid by the lessee are :
(1) legal aspects af the contract
(2) less important contents
(3) the tax-deductible expenses for the lessee

(4) non-tax-shield items under the lease-contract

TER ERT R T ggr-Reer B #

(1) orga & Bl Tel | Io
(2) HH-9EE B AqAD

(3) TR ERT BR-ECd T
(4) R PR—aTel & A UST-STIEY B S

37. Ratios calculated from the financial statements play triple rate in an enterprise-
historical, contemporal and :

(1) astrological (2) financial display
(3) astronomical (4) logical

wmﬁﬁ?ﬁﬁﬁmﬂﬁﬁﬁmﬁ@mmﬁq&hwm%—sﬁﬂmﬁ
TR, Faame SR

(1) <fad . ) faxfra-uee
(3) @Y (4) THHITA
MPHDURS-EE-2013/Commerce/(B)



38.

39.

40.

M.
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Net Profit Margin is calculated with the help of :

(1) Earnings after tax + Sales (2) Earning before tax + Sales

(3) Earning after tax + Gross revenue  (4) Earning before tax + Net revenue
FE&- AT B 1o e § @ e wemgar @) e § 2

(1) BR-g¥ER i + faa () FRd i - Ry

(3) PR-UTAT ST + FhA-HIf (4) B-YF 35 + Pa-uifty

Net Profit = Rs. 16,000 (as per P & L A/c); Provision for Bad Debts = Rs. 5,000;
Depreciation = Rs. 15,000; Proposed dividend entered in P & L A/c = Rs. 10,000;
Provision for taxes = Rs. 2,500; Preliminary expenses = Rs. 1,500; Profit on sale of
machine = Rs. 13,000.

The Cash-flow from operating activity will be :

(1) Rs. 37,000 (2) Rs. 50,000 (3) Rs.33,500 (4) Rs. 31,000

Y& M = 16,000 To (M-8 WIATHNR); Gad FT BT Wb = 5,000 Fo: BRI = 15,000
%o, waﬁ@ﬁﬁmgmmﬁam_ 10,000 %o; &R T Frae= = 2,500 o,
URMRES @ = 1,500 Bo; 7 & I 1= o1 = 13,000 To |

afarer febarell I FaHd-garg g

(1) 37,000 %o (2) 50,000 %o (3) 33,500 %o (4) 31,000 %o

An analysié consisting of a study of the behaviour of each of the items in the financial
statements is called :

(1) Stewards analysis (2) Event analysis

(3) Inductive analysis (4) Horizontal analysis

facitg faaxoll & JQ® s & aER & AT BT AR B AT FRATITT BEAT & -
(1) e fageror (2) e fageryor

(3) W& faweror (4) srguRer fawergor

RAID stands for :

(1) Reproduce Array of Inexpensive Drives
(2) Reproduce Array of Intelligent Disks

(3) Redundant Array of Inexpensive Disks
(4) Redundant Array of Inexpensive Drives
3Ro To Mo Tlo HY BT ® :

(1) Ruregy W offt gyl gead @ ford
(2) Rurggs W offt s=fomre Rvaw & Ry
(3) Reve= W 3ffts sl fewma & ford
4) Rese W offF sy g=a9 @& Bl

MPHDURS-EE-2013/Commerce/(B) P. T Q.
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42. Light penis frequently used in:

(1) A computer aided design (2) Word Processing
(3) Presentation (4) Spread sheet
STse U SRR WA § IR Sl ®

(1) Pvgex e ura fEomg # (2) = ugHEl |

(3) TG H (4) Brs e #

43. To interconnect two homogeneous WANS, we need :
(1) abridge (2) agateway (3) arouter (4) ahub
1 A WANS &1 wired & ford &9 orevd vl 2
(1) e fast o1 2) TH AT B (3) T R D (4) TP G DI

44. Which one of the following techniques is the best suited for bank cheques ?

(1) OCR (2) OMR (3) BAR (4) MICR
o qoi 3 o) FrE § § PN dee wditd U ¥ Sugad el § ?
(1) 3fo¥loaTRo (2) SfloTHOIRo (3) doTo3Ro (4) THOIMZOoHT03TRO

45, Internetisa:

(1) LAN (2) WAN

(3) MAN (4) Both LAN and MAN

(1) YeloToy-o (2) S=goYoTHo

(3) THOTOTHo (4) TcloToUHo AT YHoToTHo &I
46. In which transmission mode the flow of information is bidirectional at the same

time ?

(1) In Half Duplex (2) In Simplex

(3) In Full Duplex (4) InLiquid Window

IR @ o T8 A BT ae Uh & wng # fg-fRemee g g ?

(1) BTH-goiad A 2) RgeaT |

(3) W i # (4) fofaas fawst

MPHDURS-EE-2013/Commerce/(B)



47. Which one of the following is the smallest memory size ?
(1) Terabyte (2) Gigabite (3) Kilobyte (4) Megabyte
=1 3 & weR B A wree B el R 2
(1) <xmETEe (2) frmarge (3) fdeimrge (4) WaTSe

48. LCD stands for:

(1) Liquid Colour Display (2) Light Colour Display

(3) Lithium Crystal Display (4) Liquid Crystal Display

Telo Wlo o AMY &Il & -

(1) fefdas der v & oy (2) olge TR e & for

(3) forferm e vt & ford (4) fafdas frea fewa & forr
49.  Computer network which spans over a large geographical area is :

(1) LAN 2) VAN (3) WAN 4) MAN

UF HFYEX Hedd Ol Ve a3 A1 &5 § ool 8T &, 98 8ar & -

(1) TUcfoQoUso (2) dovou+ (3) S=goToyHo (4) TUHoUoTo

50. How can you create a uniform appearance by adding background image to all slides ?
(1) by creating a templaté
(2) by editing the slide master
(3) by using the auto correct wizard
(4) by editing and creating all of the above

N WA B THAAH 99 8 oY IHUTSS Bl S g ax gad & 7
(1) CHISIC AT & ERT

(2) WSS AR & THET ERT

(3) 3ifel dxac fase &1 warT axa

(4) SwiwE Wi B TR TF RO B g

51.  Which one of the following statement is correct ?
(1) Behaviour is the function of people and environment
(2) Reinforcement approach to understand the leadership is a famous approach
(3) Role perception refers to occupancy and actual role behaviour
(4) Motivation is not necessary for job performance
MPHDURS-EE-2013/Commerce/(B) BT O.
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et # w1 FH P e ?

(1) @aeR AFT Ud araraRor @ fbar @

(2) IA B THAH B [RGBV SUTH U YRiG SUFTH §
(3) qfr-ar SARHIT 3R arafa® i 2qER B ST ©
(4) @r-Freares g IROT TawaE TE ¥

52. Something that refers to attractiveness or intensity of desire for some expected
behavioural consequence, is called :

(1) Intrinsic behaviour ' (2) Valence

(3) Motive (4) Expectancy

P A o Fo R 2AGER B uRemHT B R aTEer AT g1 B TER W W
gt € S HEd © ¢ |

(1) IR IR (2) ST

(3) UROm (4) geamen

53. Which one of the following view was originally derived by analysing critical
incidents written by 200 engineers and accountants ?

(1) Two-need view - (2) Hygiene and behaviour view
(3) Theory of role and behaviour (4) Maslow's need hierarchy view

200 TAFRR TF SEERT g Rl ¢ R geeh B Rgeor g P T

(1) <I-3magadaRi &1 faar () wr\rezrﬁsﬁ U9 9ER faar
(3) T Yd IR SUTTH (4) Il D STaTIHAIN B AT fil?-n‘\f

54. Affective, cognitive and conative are the three elements of :
(1) Perception (2) Behaviour (3) Leadership (4) Attitude

AT, AsiHTed ae foramgfts — 4 Al ox €
(1) 99 & (2) @EER & (3) g b (4) FAEGRT &

55. A belief of providing a general guidance system is called :

(1) Counselling (2) Career development belief
(3) Perception (4) Value

[ AR gl @ fAUR @1 wEl Sl €

(1) s=om (2) smenRe sl faam

(3) @ ' (4) ST
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56. Whicl;1 one of the following combinations of approaches is the forerunner of modern
approaches to studying leadership ? '
(1) Incredibility, Punitive, and Cognitive
(2) Active greatman, Personality-trait and Leader behaviour
(3) Active, Pro-active, and Reactive
(4) Influence, Behaviour, and Contingency
I U T BH-AT AT BT FAN g BT U B YD SATH D1 3G ® 7
(1) I, TIEd AT FHIHD
| (2) frameier weTe afd, eafdrea-faRiaan qerm AT &1 FaER
(3) Trarehar, errafir qorm wfoafha

(4) UG, TTER TAT B RADT

57. The 'Arc of Distortion' indicates the potential inaccuracy of :

(1) Two-ways communication - (2) One-way communication
(3) Formal communication (4) Informal communication
(1) fg-=mt \=mor &1 (2) Uel-ATT HRIGOT BT
(3) SigenRe FRIGoT Bl (@) FTaRE TR B
58. Thle number system on which modern computers operate is :
(1) Octal number system (2) Hexadecimal number system
(3) Binary number system : (4) Decimal number system |
TR Riven T W e Bex Halferd 8 §, 98 8l 8
(1) srer we R (2) Sream weE Rk
(3) feemmd wer Riwed (4) <THed | Rved
59. A register that keeps track of next instruction to be executed is known as :
(1) . an instruction register (2) aprogramme counter
(3) an accumulator (4) a data register
v <RRER S FreRd B arer enTer Py @1 Refs @@ 8, S S ST E -
(1) TP AT IR (2) TH YR IS
(3) TP HAAD (4) T& 3MfhsT AR

MPHDURS-EE-2013/Commerce/(B) P.T. O.
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60. RAM is broadly categorized in :
(1) SRAM, ERAM (2) ERAM, VRAM
(3) VRAM, DRAM (4) DRAM, SRAM
3R T TH & R 2ofiag fpar oimar &
(1) THoIRoYoTHo FoIT FodNoToTHo  (2) FodRoToTHo TRl FodRoToTHo
(3) dlodRoToTHo T Elo3RoToTHo (4) Slo3RoToTHO TIT THONROToTHo

61. Union-taxes have been laid down in the list of :
(1) The seventh schedule of the Constitution
(2) The eighth schedule of the Constitution
(3) Fiscal Policy
(4) The guidelines of the Ministry of Finance
W v RuiRa Rl g
(1) <fdemT & dradi ARl §
(2) wdfqar &Y amedi |rof 3§
(3) o Hfa A
(4) PR oifs wrea=T &) PRl ¥

62. MSME stands for :

(1) Medium, Small and Middle Enterprises
(2) Micro Service Middlemen Entrepreneurs
(3) Managed Services of Ministry of Exports
(4) Micro, Small and Medium Enterprises
THoUHoTHoZo 1 o & fhegd qr & & ?
(1) #ifsTw, wrar Vs free gexwmsor
(2) wrgep! AT Asere iR
(3) #ivs wfdRier offts fafRed) aife vawardw
(4) T, T e AR FexwTEoNT
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63. An industrial unit with the debt-equity ratio of 1 : 1 and with the cash-loss will be

called :

(1) sick unit (2) weak unit

(3) cash-cow unit (4) care demanding unit
Waﬂ?ﬁﬁzﬁmﬁﬂmﬁrm-waﬁqml:léamwmaﬁﬁ%ma%
HEARAT

(1) 4R gaTs (2) TSR THTE

(3) AHE-TS THIS (4) ST AT dTel PT8

64. EPCG stands for:
| (1) Environment Protection for Capital Goods
(2) Export Promotion of Capital Goods
(3) Export Promotion of Current Goods

(4) Environment Protection of Core Group
goflotflostio fret & fred ar A 8 ?

(1) TaRi=ic Weaed BR Hiied Ted

(2) TEAUIE WA 3 Bficd e

(3) TRAUIE UM 3iTh BR< TS

(4) THaE=iE WeaR S R Yd

65. 'The eight round of Multilateral Trade Negotiations' is popularly known as :
(1) Dunkel Round (2) Doha Round

(3) Brettonwoods Round (4) Uruguway Round

TN IR WETACT 1 Aod! qrdtess AEl Sl S E

(1) Sha adras A (2) =TT ardas 9

(3) dcASed drdiash o (4) SH9 aarEas |

MPHDURS-EE-2013/Commerce/(B) PALO
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66. Which are the two major ideas running through the traditional approach of

67.

68.

management ?

(1) Diagnose and Analysis

(2) Functions and Principles

(3) Management levels and Understanding
(4) Management dynamics and Performance

U9 B URARS ANTH F. B 3 AR e By ¥ 7

(1) M= v favewo

(2) ®1d vd Rygra

(3) ¥eH WR U4 FHSER
(4) va Tifaw v e

F.W. Taylor and Henry Fayol were the two :

(1) management radicals of their time

(2) management experts of managerial leader, leadership and motivation
(3) organic management medalists

(4) critics of Lyndall Urwick

Uho Sy TR TAT &1 BATd SFF :
(1) T 7T & I SU-GERATS) o
(2) WEEDBR T, g Td RO fA9st o
(3) VT uew Aee o

(4) foretar SXfAs & HHTATS o

Three statements are given :

a.  When a firm sets a goal of Rs. 100 Crore sales, that goals serves as target.

b. mb.o. is also known as work planning and review.

¢.  Individual goal setting is also called management by understanding.
Which one of the following.is correct about these three statements ?

(1) All three are correct (2) Only 'a"and 'b’ are incorrect

(3) .'a' and 'b' are correct, 'c' is wrong  (4) Only *b'is correct

MPHDURS-EE-2013/Commerce/(B)



& Puq oA T €

< quﬁloomwzﬁﬁmmeﬁuﬁuﬁﬁmﬁ%ﬁhaama&uzﬁmﬁ
B BT © |

4. THo o affo F BRIAISHT U4 geRTgad il PHET SII € |

W, afra o PuRer o e gR1 ga ol BEl o € |

&7 A1 BoFl @ aR F e § F -1 Wl g v
(1) AP S © (2)2%21?{'31‘6%'@'11?13%.

(3) ‘o qo1 ‘9 P ¥, | TAd © (@) BId T AP B
69. The primacy of planning is after used to convey the : ven@'..en Of planning and
...... 'b' ...... heads are better than one conveys the group decision-making.
Which one of the following will correctly fill in the blanks ?
(1) premises at 'a’, many at 'b' (2) application at, 'a’ intelligent at 'b’

(3) performance at, 'a’ cooperative at 'b' (4) importance at, 'a' two at'b’

ST Y AT U T F od W R, WO B @, B AR H SR LT
AR U W IS YEd € gard § gu FAoiEs @ |

fopg H | SIF-41 Wrell A BT Wl AN 7
(1) TuR arFg ‘3 #, &3 A (2) SYAFT ‘o # A q H
(3) frwres o & weary 9 A (4) wem er A Q19 H

70. "A system that anticipates variations from the standards and take connective action
before an error occurs”, is called :

(1) Reactive control system (2) Closed control system

(3) Proactive control system (4) Open control system

wH g o yEl ¥ feRer &1 qEEE o oar qer Jfe EF W ugd 8 <9 fFaRe
HSH IO &7, N HEl Il

(1) wfafsar = = () seg fa=wr T
(3) ydfspareia = a= (4) Qe = =
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712 One of the following methods of testing is used for testing the significance of
difference between the two correlation-coefficients :

(1) Proportion-test method (2) Z-transformation-test method
(3) Fisher's Z-test method (4) Furguson's-test method
ﬁ‘lﬁrﬁfﬁwnﬁwaﬁﬂsﬁwﬂ-‘ﬂﬁﬁiﬁwaﬁﬂﬁﬁréﬁmﬁ%%ﬁmﬁ
CIRISIGI
(1) IrUTa-cRe qRIpT (2) Sre-uRqT=-ee TRIHT
(3) IR &1 Se-ewe alraT (4) BUA-TE TP
72. A test that refers no assumption about the shape of the population-distribution is :
(1) Non-parametric-test of mean (2) Distribution free test
(3) Runs-test | (4) Sign-test
UF < forell A B w-faarer & AR F swe wu @ Rr) P T8 Bean 99 ok
BT e §
(1) #reg &1 mTafers e 2) faaRUL-mr e
(3) w-¢w (4) AET-E

73. A tool of statistical analysis that is for the purpose of testing the hypothesis of
‘whether the means of several samples have significant difference or not'. That is :

(1) Analysis of variance (2) Wilcoxon-test
(3) Friedman's-test (4) Kruskal-Wallis test

wWaﬁmﬁuﬁaﬁWw%ﬁwﬁwﬁ%Mﬁﬂaﬁﬁwﬁm
w9 H e # gEer § o o 2, 93 ewd §

(1) weRv-fageryor ) faermreiE-ce
(3) WIESHA-C (4) sBaBTA-aIferd exe

74. Which one of the following statement is correct ?
(1) 'Operating business environment' is also called micro-business environment
(2) 'Remote environment' is also known as business environment
(3) M. Porter gave "Rivalry-model"

(4) Value activities are of 7 kinds
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s

ot # BE-a1 FU Tl E 7

(1) aREre SR ARV GRS wataR 6 FEara 8
(2) ‘gRadt waRer B aaie-gataRer @ w9 H A W o ©
(3) THo R ¥ ‘mfereui-Ager faam

(4) Hou-ufshard | UHR B e §

According to which view the business is an ecological one ?

(1) Modern view (2) Friedman's view

(3) H.S.Singhania's view (4) Contemporary view
frer gRe®l & AR @aard UE aRfRefd-fasm & ?

(1) g gieprmgar (2) WIESHT B FREPIOTIAR

(3) TdHo wHo Rfenfan & gfedvrgar  (4) MRS gfRePIvTIAR

The Chairman of the Central Consumer Protection Council is the :
(1) Central Minister of Consumer Affairs

(2) The Presidént of India

(3) The Chairman of Federation of Consumer Production Items
(4) The appointed guy by the Central Government

PFedlr IO ATV BTSRRI BT TURAT Bl §

(1) v T @1 B A

(2) 9N BT gl

(3) SUMIEET IWGH Hal B BN Bl AIRAT

(4) BT AR §RI e afed

The Industrial Policy Resolution of April, 1948 contemplated :

(1) Dual economic planning (2) Mixed economy
(3) W.T.O. system (4) Dunkel proposals
ariie, 1948 @ aienfire N wwara # smféra far

(1) e anfdfd ArSTHrdRer BT (2) fafdr ereferavern o

(3) faga =R HITST HI YoMl B (4) SHo U@l Bl

MPHDURS-EE-2013/Commerce/(B)
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78. The period of 2012-2017 is for :

(1) 11th Five Year Plan (2) 13th Five Year Plan

(3) 12th Five Year Plan (4) 14th Five Year Plan
2012 % 2017 O® B ARy & :

(1) 114t dgadia Iromr & o (2) 1341 doadiy Qo @ fory
(3) 12di dgadty Arerr & fory (4) 1447 dzadta OreEr @ oy

79. To promote rapid economic development through creation and expansion of
infrastructure is the objective of :

(1) Foreign Direct Investors (2) Public Sector

(38) Multiretail Investors ' (4) Private Sector

ATl SR T Y SR R BT A T IR @ ERT SeATE T el 9w B -
(1) faceh yeuer fAasr &t (2) AESIG &5 Br

(3) 98geT A} B (4) TRERBI &5 FT

80. InIndia, the Fiscal Policy opérates through the :
(1) Planning System
(2) Planning Commission
(3) Central Board of Direct Taxes
~ (4) Budget
MRAaY # ToRa-Af fras siRe gRenfere a1d & 7
(1) ST yomell & SRy
(2) AT AT B WRY
(3) TWE-HRI B BT 9IS D WRY

(4) a9t & iRy
81, The formula "vn = (1.96 S.D.) + Precision" is for finding out :’
(1) statistical truth (2) maximum samples number
(3) minimum sample size (4) standard error of standard deviation
¥ "Vn =(1.96 S.D.) + e B R, Pt ¥ @ B v Prarer @ B -
(1) wiReredra e | (2) T A sfma e
(3) A BT YATH IHR (4) wer-fageT @ yAg-gfe
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82. Which one of the following is correct ?

(1) When the statistical error arises due to smallness of the sample selected, then that
is known as error of inadequacy

(2) Small-error is sample format
(3) Small-error of sample format is always significant
(4) Absolute error should never be taken care of
P A e A R
(1) w9 wiker@a-gfe Brer ufaes o @ SRU gl B, A1 S i @ Ffe & wu A
SiBIRvIGIR |
(2) BE-FR uftest wrle 8k @
(3) whret Wi @ B T Tt B ¥
(4) Frder IR &1 0 A A T o ARy

83. Which one of the following is the positional average ?

(1) Moving Average (2) Harmonic Means

(3) Progressive Average (4) Mode (or Z)

e § | B i Rerdfig € 2

(1) wa<id 3iRF (2) EIED A

(3) WY S (4) TT® (1 IGP)
84. The second moment of dispersion is also called : |

(1) variation (2) variance

(3) modulus (4) kurtosis -

faRTa &1 TERT-Ol FEerar § ¢

(1) fa=mor @ (2) qHT= A

(3) e A (4) ¥ge (@gpar)
85. Which one of the following describes the shape of the distribution ?

(1) Geometric mean (2) Range

(3) Median (4) Skewness -

=t BF-a1 fIaRor & UReY BT gUiE PRl & 7

(1) warfAca s 2) fr

(3) weR (4) fawwen
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86. (1-r2)=4/N indicates:
(1) Probable error of ‘#’ (2) Trend of v’
(3) Sheppard's correction for 7’ (4) Standard error of v’
(1-7%)+ VN 9o & :
(1) 7 & dfE-ar @ v @ s
3) ' & ford WU A wyfy @) r' @ wig-fe

87. In regression analysis the variable to be predicted is called :

(1) Independent variable - (2) Dependent variable

(3) Predictive measure (4) Regressional attribute
YT fa¥ersor § f7 =R @ A= &1 Aafasgmer far orar 8, 9 vEy
(1) W|a= =° (2) snf3rg ==

(3) wWfa=rBeE A1g (4) wHOTHAR o7

88. In how many ways can the letters BASKET be arranged ?
(1) 720 ways (2) 6C, ways (3) 36 ways (4) 1760 ways
BASKET @ avlf &1 foa adiel ¥ eqaferd fvar o \avdm & 7
(1) 720 WdT A (2) 6C, B A (3) 36 BT (4) 1760 TPl A

89. The reciprocal of standard-error is a measure of :

(1) precision of the sample (2) confidence level
(3) confidence interval (4) error-proportion
yAg-Ffe B ST (1 1+ S.E) A9 gy &

(1) gfdest o gewrar &1 (2) fava™g wR 31
(3) fdwary ek &1 (4) Ffe-argura &1
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90. Formula: t = [(E - 0)+ SW 18 O .ovssivassssassinnvisees and the formula Z = (x—-p)+o
BIOE swcmsnmisss &

Which one of the following will complete the blank spaces correctly ?
(1) 'Difference-test' and mormal-variate' respectively

(2) 'D. Fisher's-test' and 'p-test' respectively

(3) "Test for number' and 's-test’ respectively

(4) 'Difference-test' and 'mean-test’ respectively

G t=[d-0)+ SNN o ® R E IR GIZ = (x = ) % 6 o B MY B
=1 A | BE-1 @rell I BT ¥el WA ?

(1) oR-e¥e’ 3R AH-fdeR’ Ha

(2) o fHIR & X' qAT ‘RI-SL’ HA:

(3) ‘Tl @ R e Tl WHII-SRE’ AT
(4) ‘IR-IT TAT ‘AAT-CE’ FHHA:

91. The managerial task of strategy implementation rests on :
(1) Analysis and discussion
(2) Action and doing
(3) Analysis and control
(4) Participation and objectives of managerial authorities

JEdhdl & BRFGIT B Tadd B BT I8 S R 8 & ¢
(1) favergor vd fagas w

(2) HRIATE! U4 PHRIGATT T

(3) favewor vd fAa=or w

(4) ya SRERET B WHiie v siwE W
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92. Strategy by itself does not lead to :

(1) structure (2) plans

(3) action ' (4) appropriation
JEDoll W Tgl AU o

(1) e/ & forx (2) o & fory

(3) @A @ ford (4) 3T & ford

93. A control exercised with the help of contingency strategy and maintaining crisis
management team come under : '

(1) Special control alert

(2) Special control strategy and alert matrix
(3) Pareto Law

(4) Graicunas' Law

IR g1 B WERAT F PRI B ok Hae-yg AW Bl 99 A Read
=T ST ® ?

(1) faew = aqear &

(2) faem f=or ggaee qon waadr R @
(3) el fm B

(4) IS R @

94. The application of the strategy commits an organisation to predetermined :
(1) Course of principles (2) Course of future action

(3) Course of policy framework - (4) Course of scientific methods

JEPIA BT SYANT U HTSH P Jg995 BT &, Uga & FilRe -
(1) Rrgri & gfewr & ufy  (2) R B Remew o @ ufy
(3) Nfa-9ra & feemaor & ufy (4) fasmia Al @ fRemeor & ufy
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95. Something that articulates a position that a firm would like to attain in the distant
future is known as :

(1) Strategy position (2) Vision
(3) Stretch (4) Leverage _
@ﬂwﬁwﬁ%wmﬂwmﬁ%ﬁﬁwwmmﬁﬁmm
AEA T, I I S
(1) geared Rafy gr ) Y NI
(3) TG BT |  (4) ST g

96. Which one of the theory of strategic management uses the mathematical models to

interpret the process of non-linear and dynamic system ? Select from the following
choices :

(1) Levis Theory of Strategy Formulation
(2) Carton's Theory of Systems

(3) SBU-Theory of Systems

(4) Chaos Theory of Strategic Management

TEAE A YT BRA D BN Rigr gRT TR HiSd BT WA SR qr i
ol ) fadee B @ ford fvar s € 2 e A W g

(1) geara frafr @ few Rigrr grT
(2) ®eA B uUTell & g R

(3) THodloPo Rygr=a (worel) ERT

(4) JEPITA T P gl Rigrd g

97. Organisational resources plus organisational behaviour create :
(1) strengths and weakness within the internal environment
(2) design
(3) matrix-system
(4) SWOT-configuration
HTEATD TRAET ST HISHId ATER I~ HRd ©
(1) =R araraRy # &Hay vd HHGIRA!
(2) g
(3) oTTet-wAraT

(4) w@re-mdpfa
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98.

99.

100.

B

Which one of the following is not the reason for adopting different stability
strategies ?

(1) the environment faced by the corporate unit is relatively stable

(2) the environment is changing every time |

(3) stable strategies themselves

(4) workers participation

71 4 9 - IR Reral A R g8 Srererant s BT T8 ¥ ?

(1) BIIRE TP GRT AT f5A S a1t aTema=er & Sengd ReR &9 & PR
(2) dTATERYT BRI daolal YEdl &

(3) ReR gg Prereany a9 amg N

(4) sl @) arferd

A cooperation between two or more independent firms involving shared control and
continuing contributions by departments for mutual benefits is known as :
(1) strategic takeovers (2) a strategic joint venture

(3) a strategic alliance (4) astrategic syndicate

ﬂmaﬁﬁa@wmﬁaﬁﬁmwmﬁ%%ﬁwﬁuaw@ﬁw
ST BT AT PR ST WEedR) TEART BT £, S ST ST &

(1) IS wEw BT aeqeRoT (2) TP \HRS Wewd BT HRT-AEd
(3) vw wrRe wewa 1 Wl (4) TP AMRE 77T BT JaURT HY
In terms of the market, 'focus business strategies' are :

(1) central strategies (2) reliable strategies

(3) business improving plans (4) niche strategies

AR W A e dfad gg-nfnlt aid) &

(1) d=r ggfn (2) g et

(3) IHTI GURA I TISTIY (4) 3rmerm ggfaaf
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